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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. ORIl gaued 319 U9 U W A 37 ;. ofd |

Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. | T A F T E

All the questions are compulsory.

3. TCHH WA 1 IW A T IR-YRAH H & G |

Write the answer to each question in the given answer-book

only.
4, S UEH A IH GUE €, 37 Tl & I U T & A |

For questions having more than one part the answers to those

parts are to be written together in continuity.
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5. U U % TR F IS ®URR W OHEl WER H JT / R /

UYTHIE &4 T &) HINT & U9 i Tel g |

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi

version should be treated valid.

6. Tug I HEAT 3h TAE AT
A 1-13 1
g 14-24 2
q 25-27 3
< 28-30 4
Section Q. Nos. Marks per
question
A 1-13 1
B 14-24 2
C 25-27 3
D 28-30 4

7. U SRHIH 24, 27, 28, 29 T 30 | 3Tid Th THA & |

Question Nos. 24, 27, 28, 29 and 30 have internal choices.

gug - A

SECTION - A

1. TR ofFe THY deh S &d & W®d & 2

Why do pollen grains remain preserved for long time ? 1
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2. WHFHIIFM FE ?

What are stem cells ? 1
3. C{iﬂ"hl NEIRC LS IRCEIN % ?

What is sickle cell anaemia ? 1
4. Hed % WA= AUE & A9 I YA 1§ ?

What is the exception to Mendel’s law of independent assortment ? 1
5. 379 I 3TUATE i TINT T i 574 |

Define genetic drift. 1
6.  TIg Sl YU AT 4R}~ hg TANHE B HIAW T2 |

Write the name of leaf and strip resistant variety of wheat. 1
7. UGG Y hash O U HAT STl § -2

Penicillin is obtained from which fungus ? 1
8. 39 AN IS T A ey STHHI- ST kT Thicd' | gl ¢ |

Give the name of that Bacterial product which is used as a ‘clot

burster’. 1
9. T UUSHYfaeIuST UTIeHl o A1 o @Y |

Write the names of two endonuclease enzymes. 1
10. TAIGHE PBR322 H U S oTcl &t W ool ok W el S o 98 o @ |

Write the names of two antibiotic resistant genes found in

plasmid PBR322, 1
11. TEREA G BR &2 () U0 59 (FeRhT) el [d & ?

Where is the International Centre for Wheat and Maize situated ? 1
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12.

13.

14.

15.

16.

17.

18.

19.

4
IGHUSA H U W THeTsd 161 o A S5 |

Give the names of four greenhouse gases present in the atmosphere. 1
T GUTT T E 2
What is accelerated Eutrophication ? 1
qgug -
SECTION - B
3Tt T ST ERT 30 T T i Al 1 el ST Fehell € 2 SHROT &1 51 |

Why can an offspring produced by asexual reproduction be called as a
clone ? Give reasons. 2
I UH YERIU] HT STUSH (THIAT) & % &l STar-g-dl; S99 gl T
THT S B SR Rl 2

If acrosome of a sperm is damaged then which process will be affected

and how ? 2
3T 7 SE 37 T AT G W i & i 9 Ted &A1 S O THer ?
What suggestions will you giveto infertile couples to produce
children ? 2
TEEIA H G i dlel St=qell & R 3o & 51 |

Give four adaptations found in animals of arid region. 2
3UE I ¥ N IUTE A h U ISR & [HRT I TGT Al & | BRI
T & FHEE |

Wasp prefers inflorescence of fig tree for laying its eggs. Explain giving

reasons. 2

3T SAid I % B B % HRUT FAMFT B FO IR F TYTRGT e
I O S e AE g | AEEE € 2

As a student of Biology how will you explain to farmers that

Bee-keeping is simple and economically beneficial for them ? 2
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20. AT A1EA Tl W GeH el B TSR F AT S Al b ITEAR W AT

TG UM ? TR i 5 |

What will be the effect on treatment of sewage if microbes are removed

from it ? Clarify. 2
21. AFE SFM TGS % IR TeF A G

Write four goals of Human Genome project. 2
22. WIS (TFEST ) I3l & S deh IART & IARA | AN T FHE |

Explain the role of transgenic animals in production of Biological

products. 2
23. 3T ! 3 oAd TIA bl oM & T T oI 3T 2

What suggestions will you give to save an imbalanced ecosystem ? 2
24, IIFHCN 9B F & ? SR WEd FHEd |

SIEEI
et | UrEt STl TEST Td qoaeUeT ol SSER0T 3T qHeed |
What is adaptive radiation ? Explain with an example. 1+1=2
OR
Explain homology and analogy in animals by giving example. 2
Qg - |q
SECTION - C

25. YUY T E ? T WA TR o YUTIIST hl GHAES |

What is endosperm ? Explain various types of endosperms. 1+2=3
26. WEWTIA FHH FEd & 2 IV T T |

What is co-dominance ? Explain with example. 1+2=3
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27. TTANTS SLUAU. FY Fed & 2 Sl od G qehAleh ¥ SLUA.U. @USl
TFRIOT TS ST W hT ol THEEY |
AT
3E Ok 31 WA= Y e & 2 UGS H@e o 93T (WHLAR.) §R
TIRRT ST T TG FE TR HAT S & 2 T |
What is Recombinant D.N.A. ? Explain the process of separation and
isolation of D.N.A fragment by gel electrophoresis technique.
OR
What is Genetic engineering ? How is-a beneficial gene amplified
through PCR-technique ? Explain. 1+2=3
Qug -
SECTION - D
28. TG F Fed &7 ST H FIHE qiFeedeEs S@a H
EERCEIEE R $H°|';\I G a’ﬁ ISR IERN
37
AE WF TRF o [T AGH | SRS TY A WA o TAR Bl T GEd
T % SO, Th e IF T ¥ |
What is nucleosome ? Draw diagram of double stranded polynucleotide
chain of DNA and explain its structure.
OR
Write properties of genetic material. Explain with a diagram, the
experiment of Alfred Hershey and Marthachase that DNA is a genetic
material. 1+2+1=4
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29.

30.

7
THIehT TeehISE AT hihd e UET ¥ UE AT ST & 2 I8 HHd IRK T

T Y9TE ST & 2 HIGH sl TEE T GG T A T |
AT

TTET Hd Fed & 2 ThT T AMSHT TReT H TR o @3 | WeRet 7]
T T I T |

From which plant is cocoa alkaloid or cocaine obtained ? What are its
effect on the human body ? Write the chemical structure of morphine.

OR

What is immunity ? Differentiate between active immunity and passive

immunity. Draw the diagram of structure of antibody molecule.

1+2+1=4

T 4G sl GIANT AT |8 el HHR H Bldl & 2 @ Egel td @
S § 3R @ | WL @l &l 3IRE =3 a2 |

7

GYa= HH Fed & 2 U= i G Sl GHSEY 99T T O % IN0T WX
T AE TT S |

Define food chain. How many types of food chain are there ? Give
difference between food chain and food web. Draw a linear diagram of

food chain. 1+1+1+1=4
OR

What is ecosystem ? Explain the structure of ecosystem and draw a

diagram of trophic levels of an ecosystem. 1+2+1=4
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